SA Ol
HHM: HAEWH2ZG (LSS SHY/NYHE - HEXH)
el: BEX HESY =LY
SA - HH SR (B) - MRAY - BAS il &t e imE=T
Ofl &1 316,062,550 286,653,598 29,408,952
AENME2G (L3I /XNLSHEY - HEXH) 236,243,451 194,093,991 42,149,460
SEX ME2Y 236,243,451 194,093,991 42,149,460
l2=2E ME=2E 1,710,000 1,510,000 200,000
101 @124 8| 10,000 10,000 0
04 JI12ZHMIZ22 XS+ 10,000 10,000 0
QJllH=s29g 10,000
201 Y EH2 | 850,000 780,000 70,000
01 At 22l bl 500,000 460,000 40,000
oJlx=s2dg 500,000
02 2322l 50,000 50,000 0
QJlH=s29 50,000
03 A2 HI 300,000 270,000 30,000
oJlxEss=2d 300,000
202 04dl 400,000 370,000 30,000
01 =LHOYI 200,000 200,000 0
QJlH=s29 200,000
03 22/ 100,000 100,000 0
oJlxEss=2d 100,000
04 2 N3Gl 100,000 70,000 30,000
QJlH=s29 100,000
301 et azg 50,000 50,000 0
09 HAAHIE &3 50,000 50,000 0
QllH=s29g 50,000
405 XHaHE SHI 400,000 300,000 100,000
01 AR ESFSHI 400,000 300,000 100,000
oJlx=s2d 400,000
Had=HE 29 15,000 20,000 A5,000
303 Z& 3 15,000 20,000 A5,000
01 Z&3 15,000 20,000 A5,000
©OuFSFamnis=, 15,000
MEESE M= 162,700 156,750 5,950
201 LBt 52,700 50,250 2,450
01 At 22l bl 52,700 50,250 2,450
OO0l okt AT 2H(128) 39,000
OMEBN2E =2 & 2| 13,700
202 4dl 55,000 51,500 3,500
01 =20 YI 55,000 51,500 3,500




Off &t
A2 (L5358
S8 HE2S

F/ANLHE - HEXH)

(&4

SA - BY . SAEH) - HRANY - B ofl &2 e HIDE2
OSLAAANY 2EFX 45,000
oMdass =d 10,000
203 YR =AY 55,000 55,000 0
03 AT E R FAH 55,000 55,000 0
OSLRNAANY 2HE=X 20,000
OXNLAXNE 29 15,000
OZYLHUS HEEA 20,000
AMHE 22 ANAE 29 31,751 30,241 1,510
308 AFXIHMSOIH 31,751 30,241 1,510
10 S 2S0ItHetZ & A A AL I 31,751 30,241 1,510
OoXNgMI2cAAY 2 31,751
Al -2 HEEA 214,076,000 172,169,000 41,907,000
308 AtXIHMSOIH 214,076,000 172,169,000 41,907,000
04 Al - ZzxHUES 214,076,000 172,169,000 41,907,000
OgYHEFUTF= 193,276,000
OSE2x3uR=3 20,800,000
g3 880t 150,000 110,000 40,000
207 A2OHE] 90,000 110,000 A20,000
01 gx=<2 90,000 110,000 20,000
OXNg=Id 3B 89 +==2 90,000
306 E¢= 60,000 0 60,000
01 &d= 60,000 0 60,000
oXg3sIdEIHE 23XA 60,000
ZETNESA oty X 20,000,000 20,000,000 0
405 Xh&HF SHI 20,000,000 20,000,000 0
01 e =S H S| 20,000,000 20,000,000 0
OLAHE =AY 20,000,000
=X - sH)I2 3SE 76,000 76,000 0
201 2Er2gY| 5,000 5,000 0
01 At 2teldl 5,000 5,000 0
Oz Mzl S LerEEY| 5,000
207 ASIHE 71,000 71,000 0
01 g2 71,000 71,000 0
OsEXEAI2 BLE 71,000
2x3 a2 23 22,000 22,000 0
201 2Er2gY| 22,000 22,000 0
01 Ab=22teldl 22,000 22,000 0
Oflds =& & =44l 22,000




SA Ol

g WZelAFo e85 A(LLSSLY/XNSSEY - WEXA)
el oRRy MEF (=L R0
SA B ER(S) - MRAE - BaS Of &r e HIDE
XF:Z%)EI&EJ_SI S8 (LSS /LY - HE 1,690,000 2,640,000 950,000
Xl
e UWHFN 1,690,000 2,640,000 950,000
QIANEX E2AY =& 1,690,000 2,640,000 950,000
201 et 315,000 315,000 0
01 At 22l 315,000 315,000 0
O2AR ME2Jt =2 € 28 YRS 315,000
202 04H| 5,000 5,000 0
01 =W ol 5,000 5,000 0
ORIZIER T2 A =& 5,000
402 212tXt=01 1,370,000 2,320,000 A950,000
01 QIZEAFSALSE R (KM THA) 1,370,000 2,320,000 A950,000
OUIANgHE Stz Z&& 24 550,000
OllAgHE sdg 23 &4 24 820,000
olllal(oldidl/elelel) 49,686,523 60,398,114 A10,711,591
oilgl gl 49,686,523 60,398, 114 A10,711,591
oyl i 48,745,223 47,284,214 1,461,009
801 oiiBlBl 48,745,223 47,284,214 1,461,009
01 & Etoliglbl 42,745,223 42,284,214 461,009
o eHoilblgl 42,745,223
02 Mol - Met=Hodly 6,000,000 5,000,000 1,000,000
OXHalt - = HMBIBI 6,000,000
UWEREs 941,300 13,113,900 A12,172,600
801 oiiBlBl 941,300 13,113,900 A12,172,600
BURERES 941,300 13,113,900 A12,172,600
oU=ERE=s 941,300
AZY 22 (ol att) (I1EHIIE) 56,276 49,802 6,474
Jl=gl 56,276 49,802 6,474
EA2E Jl=&H] 56,276 49,802 6,474
201 et 38,276 33,002 5,274
01 At 22l 36,276 31,002 5,274
OFM2E AMR2el| 36,276
02 S22l 2,000 2,000 0
OFM=2g 55293t 2,000
202 (4l 13,800 12,600 1,200
01 2 LHAHI 13,800 12,600 1,200
ORN2Y =LY 13,800
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chel: Dl Hl (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
203 PR F&H] 4,200 4,200 0
04 RN2ILRFAH 4,200 4,200 0
©302! Olaot 350,000& x12& 4,200
MPES(0lAD)(LSSHEY/RNUHE - HEXH) 28,386,300 29,471,691 A 1,085,391
ISRSPNE= 17,936,800 18,193,691 A256,891
Mah==7 MHEX& 2,392,000 2,422,058 A 30,058
311 Xt SO0l AHakst 92,000 122,058 A 30,058
05 JIEtXH 2 = O Kh&f & 92,000 0 92,000
©'03 =H=EFA(MHEXNZ) 92,000
601 XL IR S&ke 2,300,000 2,300,000 0
05 JIEI=2UHRIY S’ =4 e 2,300,000 0 2,300,000
©'03 == (MEXNZ) 2,300,000
M=Zg 2 FDAY XL EH 15,544,800 15,771,633 A226,833
311 XL SO0l RHAH& 2,844,800 3,071,633 A226,833
02 E338I 12X S0 KHAHE 2,844,800 0 2,844,800
©'09 WRNZHZ B O KHatet 2,374,400
O'09 = NEXT ALY SHIRYE Ol XAt 470,400
601 ML SASAE 12,700,000 12,700,000 0
02 EstasJI|I21LSAZHE 12,700,000 0 12,700,000
O'09 WRNZUE BN 2AJAHE 10,600,000
Q'09 = NEXANY THIREE A4 2,100,000
LHEHH K& 10,449,500 11,278,000 A 828,500
Nge 2 =7 MEXJ 10,449,500 11,278,000 A 828,500
705 =3 RAcI St 10,449,500 11,278,000 A 828,500
03 Al - SXENEI 202234 9,050,000 0 9,050,000
©'03 == (XSIMLY) 2,550,000
©'06 =H=EF(XLML) 6,500,000
04 Al - EXHHE IS0l === 0l Xt &t 2+ 1,399,500 0 1,399,500
©'03 o= (XGH) 229,500
©'06 =eH=EF(XSIMLY) 1,170,000




